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Instructions:

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. English version is considered to be Authentic
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(b)

Write down the use of SQC in textile industry.

Draw a Bar chart with following data.

0-10 10-20 20-30 30-40 40-50 50-60 60-70 70-80
2 0o 17 25 27 21 13 4

Calculate the mean from following data.
0-10 10-20 20-30 30-40 40-50 50-60 60-70 70-80
3 14 28 20 17 10 4 4
Calculate the mean by sorting method using above data.
OR

Write a short note on F- test.

Find out the mean with the help of following data.
Numberofdays- 0 1 2 3 4 5 6 7
Number of family- 8 13 21 30 18 06 03 01
Give a definition of mean, median and mode and write down the formula
for mean.

OR
Calculate the median from following data.
Daily income- 150-160 160-170 170-180 180-190 190-200 200-210
No. of family- 05 18 33 17 15 12
Explain any 10 ST units for textiles

Calculate the median with following data
40-43 44-47 48-51 52-55 56-59 60-63

5 17 25 18 13 10
By tossing a dais 10 times , calculate the probability of getting ‘6’ four
times.

OR

Calculate the value of Q1 and Q3 from the following data.
Class-8-16 16-24 24-32 32-40 40-48 48-56 56-64
Frq. - 7 9 20 14 20 20 10
Write a short note on Poision distribution.

While checking the yarn we are getting following data.
40 43 41 40 42 43 48 44 39 40
Calculate the CV %age and S.D. from above data
If mean and variance of Binomial distribution is 3.2 and 1.92 respectively
then find out number of events and probability.
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OR
In a factory while checking 40 items are found defective from 1000 items.
If randomly 100 samples are taken then find out the probability of having 3
or more items are defective in sample.
Take e =0.0183
The number of defect in 10 samples of fabric one meter each as follows.
2 45364235

With the help of C chart find out where the process is under control or not?
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SQC ol 2&elssct Hi GUA0 UHLA.

QAL 25H HEZ ok U ERL

0-10 10-20 20-30 30-40 40-50 50-60 60-70 70-80
2 10 17 25 27 21 13 4

QAL 251 HIZ Hraus L.

0-10 10-20 20-30 30-40 40-50 50-60 60-70 70-80
3 14 28 20 17 10 4 4

GuRell 51 12 W&ol utedl ol Heas L.

YL
F-222 (A ¢solld cull.
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Radt- 01 234567

URalR- 8132130180603 01
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glls lds- 150-160 160-170 170-180 180-190 190-200 200-210
yRark - 05 18 33 17 15 12
slguel 10 SIYolle dull

[QAAo{l 25H HIZ Hr2uReL A

40-43 44-47 48-51 52-55 56-59 60-63
5 17 25 18 13 10

A UL ol w=AR 10 clR Geotscll HL 3ld AR UR clR 6 dlaal

o{l dedoll 20
YL

QAL 251 2 Q1 WA Q3 ol (1t 2.

Class-8-16 16-24 24-32 32-40 40-48 48-56 56-64
Frq. - 7 9 20 14 20 20 10

Quet BRRofYuet UR gsollet cull.
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41 43 41 40 42 43 48 44 39 40
Bloll HIZ CV % el S.D. 20l

oglR [BUEL (ARl HL HEs Bl HL2RYU WojsN 3.2 U 1.92 B

Al Yol 3 ofl Hull Wal Aedlctetl K.
YL

As 3523 Ui 1000 Ui &l 40 cdrfll WRLGL HIGH Ud B. %
Aletdls R 100 v AcHl AA AL Axel 3 ol aurR crd

wRLol dlatell eucstt el

Take ¢ =0.0183

10 As M2 ol vt H vl AA Yoo &
345364235

c U ol Hee ol uBau $3ct HL D ¥ o8l A ¥ weudl.
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